
1. Simplify :  (a)   

3/2 3/5

5/4 4/3

(25) (243)

(16) (8)




        (b)  –7 –5( 4) ( 2)

2. Prove that  
0 –1

–1 3 –1

(0.6) – (0.1) 3
–

23 3 1
–

8 2 3


     

     
     

3. Solve : 
4 5 4 – 5

4 – 5 4 5






4. If 
2 – 5

2 5
a 


and 

2 5

2 – 5
b


 find a2 –b2.

5. Show that 
     

 

2 2 2

4
1

. .

a b b c c a

a b c

x x x

x x x

  



6. If 3 – 2 2x  find 
2

2

1
x

x
 .

7. If x, y, z are positive real numbers show that –1 –1 –1. . 1x y y z z x  .

8. If both a & b are rational number, find the value of a & b.

(i)
5 3

47 3
7 – 4 3

a b


  (ii)
2 3

– 6
3 2 – 2 3

a b


 .

9. If 2 3x   find the value of 
1

x
x

 .

10. Simplify : 

7/2 –5/2–1 2 –2 3

2 –4 3 –5

5 7 5 7

5 7 5 7

    
          
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